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1) It ?.Sin"l X = Sin_l 2x\/1 — x2 then x -
1 |
N |7

1
(C) [—5’ 1]

., -l
2) cos(sm ' 5 +cos” x) =0 thenx =

(A) 1

(C) 0 (D)

a+b
2

. Then % 1s

3) Binary operation * on Ris givenbya * b=

(A) not commutative but associative

(B) commutative and associative

mmutative but not associative

(D) not commutative and not associative

(Space for Rough Work) Q+p = bta
| 2. 2.



74) Let A= {—1,—2,3,4} Number of all one-one functions from the sct A to itse)
- 1S
3 (A) 24

(C) 4

5)  If functions fand g are defined as:

) .
f: II:O,—;E-] —R, f(x)=sinx and
g: [0,%]—)& g(x)=cosx

| 5

»
then

(A) [+ gisone-one and fg is not one-one

(B) f+ gisnotone-one and fg is one-one

(C) f+gisnotone-one and fg is not one-one

£PJ f+ gisone-one and fg is one-one

6) If y=100e* +200e™** =qy thena=

\AA) 4 (B) —4

(C) 2




Function f :[1 2, 1.9] - R, f (x) = [x], where [x] denotes the greatest intem

less than or equal to x. Then

(B) fis not differentiative

\ﬂ{) f1is not continuous function

8) If x=+10"", y=+10°""" then _025
dx

X

y (B)

(A)

(C) 0

9)  The interval in which y = x’e™" is increasing is
(B) (_2, 0)

LB (—o0,)

10) Equation oftangent line to 16x? + 25y* =1, which is parallel to Y-axis is

(A) (0,2)

(C) (2,)

(A) 5y—l=0 (B) S5x-1=0

JD) 4x-1=0

(C) 4y+1=0



7)  Function f: [l 2, 1.9] - R, f (x) = [x], where [x] denotes the greatest integer

less than or equal to x. Then

(A) J‘-’(X) = |

(€) f'(x)=0

8) Ifx=\/lO’i"_",y=\/IO°°"l‘ then %= :

X

(A) Ty B)

(C) O

9) Theinterval in which y = x’e”* is increasing is

(A) (0,2) B) (-2,0)

(C) (2,») |,(«B‘)/(—oo,oo)

10) Equation oftangent lincto | 6x2 + 25y =1, whichis parallel to Y-axis is -

(A) 5y-l=0 (B) Sx-1=0

JD) 4x-1=0

(C) 4y+1=0




d

11) A cylindrical tank of diameter 20 m is being filled with wheat at the rate of 314
s increasing at the rate of _

cubic meter per hour. Then the depth of the wheat 1

AV /A

by

(sinx—1)

(A) 0.5m/M B) 0.1 m/h
(C) 1.1m/h \}E} 1 m/h
12) [e™*sin2xdx=__ " +C.
(A) e™*(sinx+1) B 2¢""* (sinx—1)
(C) 2e‘i“’(sinx + 1) (D) e *
/cosx—cos" X
- T dx=
) I 1 —-cos’ x .
(A) —-;—cos"'l (cos% x)
(C) -zzi-cos"'l ( cos% x)

14) f(x + l)(xt+ 3)(x__-|_-_2)7 dx =

(x +3)lo (x +3)'

(A) TR :
c 3 (x+3)
10 8

(Qornnmnn Enee Dace L. XaAT_ 1\







C) -1 D) 1

20) The area of the region bounded by the two parabolas y = x* _and ’yz X 1S

_——————ﬁ

3

(A) 2 (B) 3

© 3 ;



(D) 3

22) Theareaof the region bounded by the curve y* = 4x andtheline x=3 is

(B) 348
(C) 8 ) 8.3

23) Iflength of subnormal at any point of a curve is always constant then that curve
- represents a

(A) Parabola
(C) Ellipse

24) The integrating factor of the differential equation x% -y= x* is

' @By~
e ” X

(D) x




re coplanar thep

25) If the vectors ,“‘_]+/2, 3?+}'+2/E and i+ﬂ.j-3k a

1= .

(A) 15 (B) -15
5

(C) 5 (D) 3

_ o2 -
26) Let the vectors @ and b be such that |Ei|=3 and |b|=-—3—. If axb 1s a unit

vector, then the angle between g and b is

V(4

(A) _ (B) 2

|
(D) <

unit vectors such that &'+5+E=6 then

3

(B) 5

o

x+1l y z-3

2 3 6
(B) cos”' (—8—)
21

(D) sin” (-]-)
8

(Space for Rough Work)

The angle between the line

and the plane 10x+2y—11z=3




29) Thearea ofatriangle having the points A (1,1,1), B(1,2,3) and C(2,3,1) asits

vertices 1S
J19 7
~ - 21
(A) E (B) -
19 21
(€) B3 - (D) >
. l=x Ty- - - — -
30) Thelines —— = 4 1Z":-E—-éand Ll 2. £—5=6 u are at nght angles
3 2p 2 3p 1 d
then value of p is
o1 ..
(A) 7 B) 7
70 7
(C) T} (D) T

31) The mean number of heads in three tosses of a fair coin is
(A) 3.5 (B) 0.5
(C) 15 (D) 1.5

10
1) .. . ]
})) If for Bernoulli distribution B(IO,E) _it is given that P(X < 2) = m(-i] then

m = :
(A) 101
(C) 56




Corner points of the feasible region of objective function Z=3x+9y ofalincar

programming problem are (0, 10), (5, 5), (15, 15) and (0, 20). Minimum value of
Zis

A 10 B 90
(C) 50 “D) 60
35) If A= ccts6 siné hen A3 =
—siné@ cosé

cos3f@ sin3é
(A) —cos36 sin36é

—cos36 sin368
(B)

cos38 sin3é
(C)

sin 36 0053‘9
—sin36@ cos3é

cos360 -—sin3€@
(D) -sin3€@ cos3é

(Space for Rough Work)




x xX l+x
37) For real numbers x, y, z such that x2y=#z, |y y* 1+)°’|=0 and

z 22 1+2

(B) -1

(C) 0 - (D)




(A) — (B) —

2 0 0
39) IfA=|0 1 O] thensum ofall the elements of A~ =
O 0 3
(A) 6 (B) -6
11
C) O W) —

6

40) IfSin-'a=a+ﬂ, sin"b=a—ﬂ then sin2a+coszﬂ=
A) ab
(C) ab-1
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Question No. Answer Question No. Answer
1 D 21 ke
2 B 22 D
3 ¥ 23 A
4 A 24 B
5 i 25 A
6 A 26 B
7 C 27 D
8 D 28 C
9 A 29 B

10 D 30 C
11 D 31 D
12 B 32 C
13 D 33 B
14 D 34 D
15 B 35 C
16 B 36 D
17 I 37 B
18 A 38 B
19 B 39 D
20 D 40 D



